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1.0
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3 R| C | K t, V (km/h)
10mm m | mm m
300 34 050 | 0.40 ‘0.40
112 | 500 | 56 [MoXoMN0N=0) \0.50
800 | 90 MONENOES \0.55
300 | 26 MOENES \0.45
120 | 86 | 500 | 43 [NolsIONsS \0.55
800 | 69 77@
300 | 19 [OORNeED) \0.50 0.50
R ¢ 63 | 500 | 32 0.55 \0.55 0.55
K t, AY, 800 | 50
RCKTZ®&HV 5 300 | 25 050 los0 050
108 84 | 500 | 42 \0.55 0.55
800 | 67 0,65 | 060 |
300 | 19 055 050 0.50
160 | 64 | 500 | 32 ‘
800 | 51
6 300 | 14 0.55 \0.55 0.55
47 | 500 | 24 \
800 | 38
300 | 54 055 055
67 | 500 | 34 | 0.70 | 0.65 | 0.65 | 0.65
02 800 | 34 0.70 | 0.70 | 0.70
300 | 41 0
0.1 1 2 200 | 51 | 500 | 26 | 0.70 | 0.70 | 0.65 | 0.65
2 800 | 15 0.70 | 0.70
300 | 30
38 | 500 | 19 [0.70 | 0.70 | 0.70 | 0.70
800 | 11
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R| C | K|t V (km/h)
mm m 25 19 13

120 | 112 | 300 | 34 | 065
86 | 300 | 26 | 0.65
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